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Before answering the questions, ensure that you have been supplied the correct
and complete question paper, no claim in this regard, will be entertained after
examination.

General Instructions:
T fAger

Read the following instructions very carefully and strictly follow them.

(1) Question paper comprises six sections A, B, C, D, E and F. There are 40 questions in
the questions paper. All questions are compulsory.

(ii) Section A-Question no 1 to 20 are Objective questions ( 1 to 20 -multiple choice )
carrying 1 mark each.

(iii) Section B-Question no 21 to 28 are very short questions, carrying 2 marks each.
(iv) Section C- Question no 29 to 32 are case study questions carrying 3 marks each.

(v) Section D- Questions no 33 to 36 are short answer type questions, carrying 3 marks
each.

(V1) Section-E Questions no. 37 to 39 are long answer type questions, carrying 5 marks
each. Answers to each question should not exceed 120 words.

(vi)Section F- Questions no 40 is map based, carrying 5 marks. Part A is from history
(2marks) and part B is from geography (3 marks).

(vii) There is no overall choice in the question paper. However, an internal choice has
been provided in few questions. Only one of the choices in such questions has to be
attempted.

(viii) Attach map along with your answer book.

(ix) In addition to this, separate instructions are given with each section and question,
wherever necessary.

Section-A (1x20)



Tick the Correct answer

el 3T I e amey

Q.1 Who was the founder of Brahm Samaj ?
A)Dayanand Saraswati C) Vivekanand

B) Rajaram Mohan Ray D) Ramkrishan
T TETST & HEATIF HA A?

A) e g&Fdt  C) eawme

B) TSIXTH Higd T D) TTHFTT

Q.2 Indian National Congress was established in --------------- .

A) 1885 C)1985

B) 1875 D) 1890

o o .
WA TEE HUT B TAGAT —————————— o ——

A) 1885 C) 1985
B) 1875 D) 1890
Q3 Where was the headquarter of Gadar Party located ?

A) London C) Punjab
B) Sanfransisko D) Delhi

T 9TET FT AT Fgl #q oam
A) &aT C) e

B) &@wier=ht D) faeetr

Q.4 After how many years are elections held for the Chinese Parliament ?

A)5 B)3 C)4 D)2

=T §Eg & e g9 fhad 99 918 2hd 82
A)5 B)3 C)4 D)2



Q.5 The word Democracy is derived from which language ?
A) Roman C) Hindi

B) Arabi D) Greek

SHIRET oreg Toh ATOT & foraTm wram 87
A) Tma  C)fRdt
B) srat D) ¥

Q.6 Who conduct the election process in India ?
A) Election Commission C) Parliament

B) Prime Minister D) President

AT § T THAT FT HATAT HIF HAT 82

A) FATE AN C) §9=

B) e AT D) Trgafa

Q.7 Which is the Eastern most Longitude of India ?
A) 97°25 " east C) 98°25 " east

B) 95°25 " east D) 97°30 " east

AR FT 999 TAl <90dY Hid q91 8?2
A) 97°25 " east C) 98°25 " east

B) 95°25 " east D) 97°30 " east
Q.8 Where does Narmada River originate from ?
A) Himalaya  C) Nagpur Plateau

B) Amarkantak D) None of these

THET &l FT IEH FEl F rar g2

A) BETT  C) AN TBTX
B) ¥W&ed D)TAH | FIT Anl




Q.9 In which state are lions found in India ? 1
A) Haryana C) Assam

B) Sikkim D) Gujrat

aed ¥ 9% R TeT § 91U S 82

A) g™ C) IEw
B) f&rfaw D) e

Q.10 What is the number of upper caste families in Palampur village? 1
A) 80 C) 90
B) 20 D)70

AT T H IF ATd F a6l §eqr fhadr g2

A) 80 C) 90

B) 20 D)70

Q.11 When was the National Rural Employment Guarantee Act passed ? 1
A) 2004 C) 2005

B) 2009 D) 2014

U ATHIOT TSEE ST ATHHIH Fg 9T ham T2

A) 2004 C) 2005

B) 2009 D) 2014

Q.12 Who announce MSP ? 1
A) Minister C) Government

B) President D) Governor

THUH YT T ATIOT R FLAT 82
A) Tt C) %L

B) Trgufd D) TrsauTe



Q.13 Who gave the slogan of going back to the VVedas ?

Fgt FT MY FTaw ST v A e e

Q.14 Who is the Head of India ?.
AT & {GAT FT 52
Q.15 What is National Income ?

T E?

Q.16 Azad Hind Fauj was founded by........c.ccccveunee. .

A) Subhas Chander Bose C) Nehru
B) Ras Bihari Bose D)None of These
AeTE Bre WIS 0 TATIHAT o FRT AT T2 o

A) AT b5 91 C)HE®
ByTEfagr{t a1l D)zaH ¥ FE Il

[0 25 by A PP stores buffer stock in India .
A) FCI C) ICICI
B) HAFED D None of these

....................... ARG § THC Tih H ST FAT 2l
A) TEHTSTE  C) I HY o HY WM
B) &the D) =H & FT AL

Q.18 The terrible riots in Gujarat took place in ................ .
A)2004 C) 2001

B) 2005 D) 2002



T H 9IEE H o oA
A) 2004 C) 2001

B) 2005 D) 2002

In each of the questions given below , there are two statements marked as Assertion (A)
and Reason (R). Mark your answer as per the codes.

= R, voE vy § A Fud Ru oy 2 |uw A wEer afvses (a) e
AL H FEO (B) Fgl AT g | FeiRa & &t 2994 § ®9 A7 A8l 7 |

Q.19 Assertion (A) Haryana was founded in 1 November 1966. 1

Reason (R) Haryana was separated from Punjab on the basis of Language
difference .

A) Both A and R are true and R is the correct explanation of A .
B) Ais true but R is false.
C) Ais false but R is true.

D) Both A and R are true .

AMHFAT (A) FRATT H FAMOAT 1 F9a% 1966 # g2 off
FEOT (B ) WTUT FA¥ % MY I FRATUT H GoTd F AT RAT TAT 4TI

A)ATR TAT 9 § AT R, A & g5l AT § |
B)ATT g TR T B |
C)ATHAT g «fhd REE & |
D)AT RIMT A & |

Q.20 Assertion (A) In India, people elect their own representatives . 1

Reason (R) India is a democracy.

A)Both A and R are true and R is the correct explanation of A .

B) Both A and R are true and R is not the correct explanation of A .
C) Ais false but R is true.

D) Both A and R are true.

AFAT (A) 9T § AN AYT T(diArer TaF Jad 2l
FEOT (B) ATXA TF AMRAT Bl

A)ATR TET 7 § AT R, A 7 5L =ATRAT T




B).ATR Tl HT § 3T R, A # gl =a18aT 731 ¢ |
C)ATHAT g Wfhd RTST T |
D)AT REAET T & |

Section- B

(Very Short Answer Questions) (2x8=16)

Q.21 Write a short note on Khudiram Bose? 2
a9 9% UE gfery feoqeft fore?

Q.22 Why did Indians oppose the Simon Commission? 2

AT F \@TEHa s 1 Ay = R

Q.23 Explain the meaning of Democracy. 2

AFaT FT FF TY F:

Q.24. What is the meant by Coalition Government. 2
T TR o FT qead g2

Q.25 What is meant by Indian Sub- Continent? 2
ATLA T STHGTET | 9T AT 52
Q.26 Explain two features of Evergreen Forests ? 2

AIEEE adl @l & [euare aarsa?

Q.27 What is meant by Food Security. 2

gr AT ¥ FT qread 82

Q.28 What is called Poverty Line? 2
T Y= & wga 82

Section- C

(Case Study Based Questions) (4x3=12)



Q.29 Read the Extract given below and answer the questions
that follow:

Bal Gangadhar Tilak had established their own separate Home rule Leagues in Poona
and Mrs. Annie Besant in Madras , but both of them started cooperating with each
other in the national interest . He toured different parts of the country and addressed
people at various places and propagated Home Rule. As a result of the efforts of these
two leaders, many branches of Home rule League were established in different parts of
India and thousands of people became members of Home Rule League. Many national
leaders like M.A Ansari, Shankar Lal, Nekiram Sharma etc. joined the Home Rule
League and started unitedly demanding Swaraj. Bal Gangadhar Tilak had handed over
the command of Home Rule Movement in Madhya Pardesh and Berar region to
Nekiram Sharma of Haryana.

Answer these questions :

Q29.1 Who established Home Rule Leagues in India? 1
Q29.2 What works were done by Bal Gangadhar Tilak for the spread of Home Rule
League? 1
Q29.3 Who lead Home Rule movement in Madhya Pardesh and Berar? 1

U U g T A A U @Y 39T T :

T e e F @7 § S Sl AT s F "Ee § Ul S-S
BIHEA RT Al TATOAT it off, @i @1 F g BF § UEH-gAL FT GgART HwIAT
& F AN I <o & A Bedr &1 I BT o [fss s&uEt 9w ann
F garfed AT siw g & #7 y= fRm =9 @ Saret F oyt %
qRuTHEEY qd & fBfve awit #§ g o' fiw it w2 amEmd enfig g2 siw
gl AN B ®A AN & H&&F a9 | TH.T. FERI, 6FL AT, TehIH QAT
AMfe FT TET Ad7 F & AR H qMHA FT TT ST TAs[e BIHT TSl A
FIA A AT TMET TAAF T TET TR T AT AT H FH ®A AQAT Al

FHTT AT o Ao 9THT &l FAT 7|
fRaferfea v % 39 T

Q29.1 AT # W ®A AN #Hl TTIAT e &2 1
TH29.2 W A AR & JHR & &0 qar e fdas  #=7 ®13 F72 1



Q29.3 LT YU ¥ TOX H W &A AQ@d & Aqcd e Hmam 1

Q.30 Read the following paragraph and answer the questions

The most significant feature of the Indian population is the size of its adolescent population.
It constitutes one-fifth of the total population of India. Adolescents are, generally, grouped in
the age group of 10 to 19 years. They are the most important resource for the future. Nutrition
requirements of adolescents are higher than those of a normal child or adult. Poor nutrition
can lead to deficiency and stunted growth. But in India, the diet available to adolescents is
inadequate in all nutrients. A large number of adolescent girls suffer from anemia. Their
problems have so far not received adequate attention in the process of development. The
adolescent girls have to be sensitized to the problems they confront. Awareness among them
can be improved through the spread of literacy and education.

Answer these questions:

Q30.1 What is the most significant features of Indian population ? 1
Q30.2 A large number of adolescent girls suffer from which disease? 1
Q30.3 Adolescents are, generally, grouped in which age group? 1

U U S99 T oA A UF @Y 397 2

AT FHEEAT Hl a9 Agdqul [9udar aal e S9aear &1 AF gl T8
AT Al FA SAGEAT F T=Fam GEAr gl Awar 9% Rt &1 10 ¥ 19 J9 &
A A W Alel AT gl F AESA F U "qEw Agaqur @Ergd g1 Geemr &
T FEdT AFTFHATT AHTT ag AT aTeh il qadr | A& it gl @
T F FHT BT dFhdal g i ™ % Thar gl ofhd aa § fhermer & e
A AT H AT TUF Td AYATH B Bl TST HEAT H Fhenteat uwAHAT &
fifeq g e 7 afhar § o9 9% ST gueTs uT UgiH edd Al QAT T
gl TRenteal T SAh HTHA AT ATl HHEATSl 6 Wid Gaedd™ aEq™r gl

qTEAAT S freT % Y9 % A" | 39 Snresdr # ga A S "war @
Raferfea w1t % 39 T

030.1 AN SAHEEAT Hil qa9 Hged Ul F9wdar #r 82 1

Q30.2 St Hear § frenfiat e dwrd ¥ fifsq 22 1



030.3 fRel™l &1 o\ dX 9 & g a1 # awfiga fFar Smar g2 1

Q.31 Read the Extract given below and answer the questions
that follow :

Lok Dal and its partners won 76 out of 90 seats in the State Assembly. Lok Dal alone won 60
seats and thus had a clear majority in the Assembly. The Congress could win only 5 seats.
Once the election results were announced, the sitting Chief Minister resigned. The newly
elected Members of Legislative Assembly (MLAS) of Lok Dal chose Devi Lal as their leader.
The Governor invited Devi Lal to be the new Chief Minister. Three days after the election
results were declared, he became the Chief Minister. As soon as he became the Chief
Minister, his Government issued a Government Order waiving the outstanding loans of small
farmers, agricultural labourers and small businessmen. His party ruled the State for four
years.

Answer these questions:
Q31.1 Which party won 60 seats in Assembly election? (1)
Q31.2 Who became new chief minister ? 1)

Q31.3 Which order was issued by new government for the welfare of farmers and
laborers ? (1)

iU U 9w w oW ¥ Ug R 3I9¢

AMHEd ST I TEARAT F T[T Femeaar fif 90 § & 76 Hid SOdll Thel
AwEA 9 60 HiE SIdl Y =@ dvg SH Fea=aar § T FgHq Fen e 6w
5 i S @ FATEd qROmH CAud g @l HISEr eEHsl F SEwr @ feEm
A o A= @FEE 9T g@e Al (FgEel) 9 @ B H9qT Jdr AT

TSI F QAT H FIT GeIAAT a9 & forg smat=a fwam gama adis =iua

g F A R ae 98 st aq . qEgHAl aqd g 399 aeE q Qe

ToheTHT, Tidge Toigdl 3T @le ATITRAT FT THIAT Fol ATF FLd HT AR Q9

ST o I 0 B A i 2 i B Eale ) M A e e A e
et = % s9e T .

Q31.1 fEgmasr Fama & 7 9@t T 60 #HE Sl (1)
Q31.2 ¥ HEIHAT HF ad ? (1)



Q31.3 7= & 7 fFami &iv aoigdl & Fearw & U &9 &7 e S
fora? (1)

Q.32 Read the Extract given below and answer the questions
that follow:

This village has about 450 families belonging to several different castes. The 80 upper caste
families own the majority of land in the village. Their houses, some of them quite large, are
made of brick with cement plastering. The SCs (dalits) comprise one third of the population
and live in one corner of the village and in much smaller houses some of which are of mud
and straw. Most of the houses have electric connections. Electricity powers all the tubewells
in the fields and is used in various types of small business. Palampur has two primary schools
and one high school. There is a primary health centre run by the government and one private
dispensary where the sick are treated..

Answer these questions:
Q32.1 How many families are resided in the Palampur village? 1
Q32.2 The shares of dalits population is .........ccccoeevveiiniinennen. 1

Q32.3 Explain the facilities are available in the Palampur village. 1

foU U g w oA ¥ Ug A7 397 T

TH ME W F AT-FAT QTN o R 450 TRATT gl Ta i Afeenier S
T 80 FAl AT &F TNATRT & Foo(l gl 396 =7, O@H & T *FHr a2 g, HHe
TATEEY % ATT el H A gl AqgiHd Sra (Ffera) dr smerdr s fage g odiw 9
TE F TF FA H T TgT Bl WA W @A § O F Fu W ST q® F 2
afeepier wF § fOSr F FAweE g /St ¥ owdr & a9t s@aar w0 feserr
et 8 oir za@r W fAfve s & g FEaE § Far Smar g1 e
I N £ o oS e - M o e T 1 - R 1 A A B e N ks A e
BIRIEE ) ro e -S| Ell e ol 1 0 2 ke A o e £ e e 1 B 70 O <

et = % s9e T .

Q32.1 WYX A # fhad gfaw Feam Fd 82 1



Q32.2 =foral #T Ararar & BET 2l 1

TH32.3 FAT0 T IEHEIE TE H FT gEgmy Idsd 2l 1

Section-D

(Short Answer Type Questions)( 4x3=12)
Q.33 What were the reasons for the partition of India ?

AT & A9 & F7 w9
Q.34 Describe the Fundamental rights given in the Constitution of India.

qRa & "™ § R T Ao ATER FT quA Aol
Q.35 Write the factors which affected Indian climate. 3

AR AT &H TATAT FIA ATl Fh ffem)
Q.36 Define the Birth rate, Death rate and Growth rate.

Sz i - Cll | L EE el T TR L el
Section- E

(Essay Type Questions) (5x4=20)

Q.37 What impact did the exploitative policies of the British have on India and (5)
Indians?

FUSTT AT OUOTRTET AT T TR T Il 9% FT TATT TE7?
Or
Which institutions helped in the spreads of English Education in the 19" Century?
Explain it.

191 |y H SUSir forer & v\ # R d@vumn 9 "wee i ATt

Q.38 Describe. the nature of the Constituent Assembly of India

q &7 A9 TA9T F F&9 F7 g F2)
Or 5)
How did apartheid end in South Africa ?

FFEAO ofTET H WS H @ gamr?

Q.39 Explain the differences in the features of the Himalayan region and the
Peninsular Plateau.

AT & 3T yrEET 9o fi fFemars # sae Ty w1



Or 5)
Describe the Northern Plains of India.

WA & IO HETT &1 q9A FHI

SECTION-F
(MAP SKILL BASED QUESTION)(2+3=5)

Q.40 A. On the given outline map of World show the following places: 2
g ¥ fRw o st am R w e e # gatga:

Famous places of 1857 revolt

A. Delhi

feeetT
B. Meerut

, W3

Q.40B. On the given outline map of India show the following places: 3
T & Ru g sr@ramtT § Ao s« gaisy:

A. Coromandal Coast

FLHEA d<

B. Kajiranga National Park
FISAT TP IATH

C. Ganga river

T A=
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1. B) Rajaram Mohan Rai

Q2. A) 1885

Q3. B) Sanfransisco

Q4.A) 3

Q.5D) Greek

Q.6 A) Election Commission

Q.7B) 97°25 " east

Q.8 B) Amarkantak

Q.9. D) Gujrat

Q.10. A) 80

Q.11. C) 2005

Q.12. C) Government

Q.13. Mabharishi Dayanand Saraswati
Q.14. President

Q.15. National income is the sum total of the value of all the goods and services manufactured
by the residents of the country, in a year., within its domestic boundaries or outside.

Q.16. B) Ras Bihari Bose
Q.17. A) FCI

Q.18. A) 2004

Q.19. D) Both A and R are true

Q.20. D) Both A and R are true



Q.21 Shahid Khudiram Bose was the youngest revolutionary freedom fighter who opposed
British Raj in India. He was involved in the Muzaffarpur conspiracy and was executed on August
11, 1908, at the age of 18 years.

Q.22 It was boycotted by the Indians because, all its members were Englishmen. The
Commission had no Indian member. This was seen as a deliberate insult to the self-respect of the
Indians.

Q.23 A system in which the government of a country is elected by the people.

Q.24 A coalition government, or coalition cabinet, is a government by political parties that enter
into a power-sharing arrangement of the executive. Coalition governments usually occur when
no single party has achieved an absolute majority after an election.

Q.25 The Indian subcontinent consists of India, Bhutan, Maldives, Sri Lanka, Nepal,
Bangladesh, and Pakistan. The term subcontinent signifies a subdivision of a continent that has a
distinct political, geographical, or cultural identity and also a large land mass somewhat smaller
than a continent.

Q.26 The heights of the trees can reach up to 60 meters and above. The forest appears green
throughout the year. This region has abundant vegetation of all kinds of shrubs, herbs, and
creepers.

Q.27 Food security refers to availability, accessibility and affordability of food to all people at all
times. Food security depends, on the Public Distribution System (PDS).

Q.28.The poverty line is the threshold line that defines the minimum requirement of income
required by an individual to fulfil his/her basic necessities. If a person is below the poverty line,
then he won’t be able to meet his needs for survival.

Q.29

Q29.1 Bal Gangadhar Tilak had established their own separate Home rule Leagues in Poona
and Mrs. Annie Besant in Madras.
Q29.2 He toured different parts of the country and addressed people at various places and
propagated Home Rule.
Q29.3 Nekiram Sharma
Q.30

Q30.1 The most significant feature of the Indian population is the size of its adolescent
population. It constitutes one-fifth of the total population of India.

Q30.2 Anemia

Q30.3 10 to 19 years



Q.31
Q31.1 Lok Dal

Q31.2 Devi Lal

Q31.3 Waiving the outstanding loans of small farmers, agricultural labourers and small
businessmen.

Q.32
Q32.1. (450) families
Q32.2 One third of the population

Q32.3Palampur has two primary schools and one high school. There is a primary health centre
run by the government and one private dispensary where the sick are treated..

Q.33 Reasons of the partition of India:

1. Divide and rule policy of Britishers
2. Role of Muslim League

3. Role of Muhamad Zinna

4. Failure of interim government
5.Direct actin day of Muslim League

Q.34. There are six fundamental rights in India. They are Right to Equality, Right to Freedom,
Right against Exploitation, Right to Freedom of Religion, Cultural and Educational Rights, and
Right to Constitutional Remedies.

Q.35 Factors affecting Indian climate:
1. Latitude
2. Altitude
3. Pressure and Winds
4. Distance from the sea
5. ocean currents and relief features.

Q.36 Birth rate: It is the number of live births per year per 1000 of the population.
Death Rate: The number of deaths per 1000 estimated mid-year population in one year, in a
given place.
Growth Rate: The difference between the birth and death rates is termed the growth rate of
the population.

Q.37 The exploitative policies of the British had a bad impact on India and Indians. Indian Were
not satisfied with the slavery and exploitation policy of the Britishers. The British government
completely exploited the Indians. She interfered in Indian culture. Indians completely opposed



this intervention of the Britishers. Every year, protests by Indians against the exploitation of
British rule were seen surging in some part of India. The collective reaction to this protest
appeared in the form of the revolt of 1857. Religious-social reform movements started in India in
the nineteenth century. These movements not only had an impact on religion, society and
literature but also on the political life of India. National consciousness gradually began to infuse
political life. Due to the influence of this consciousness, political organizations started being
established in the country. With the emergence of political national consciousness, the feeling
became stronger among the Indians that India belongs to the Indians and only the Indians have
the right on Indian resources. In the same century, the sentiments of independence began to
blossom in the bleak slavery of Indians and their sense of civilisation, culture and self-respect
became stronger.

OR

(1) The work of spreading education in English was first started by the English missionaries in
India. They did it to spread their religion.

(2) Many Indian social reformers like Raja Rammohan Roy also opened many schools and
colleges for the purpose of education in English language. His aim in doing so was to create
consciousness among Indians.

(3) Social organizations like Brahm Samaj, Arya Samaj, Ramakrishna Mission etc. established
many schools and colleges, so that many evils prevalent in the Indian society could be got rid of.

(4) in India The British government also took important steps towards spreading the English
language, so that they could get cheap clerks to run the administrative work.

Q38. The drafting of the document called the constitution was done by an assembly of elected
representatives called the Constituent Assembly. Elections to the Constituent Assembly were
held in July 1946. Its first meeting was held in December 1946. Soon after, the country was
divided into India and Pakistan. The Constituent Assembly was also divided into the Constituent
Assembly of India and that of Pakistan. The Constituent Assembly that wrote the Indian
constitution had 299 members. The Assembly adopted the Constitution on 26 November 1949
but it came into effect on 26 January 1950. To mark this day we celebrate January 26 as
Republic Day every year.

OR

Apartheid was the name of a system of racial discrimination unique to South Africa. The white
Europeans imposed this system on South Africa. Since 1950, the blacks, colored and Indians
fought against the apartheid system. They launched protest marches and strikes. The African
National Congress (ANC) was the umbrella organization that led the struggle against the policies
of segregation. This included many workers’ unions and the Communist Party. Many sensitive
whites also joined the ANC to oppose apartheid and played a leading role in this struggle.
Several countries denounced apartheid as unjust and racist. But the white racist government
continued to rule by detaining, torturing and killing thousands of black and coloured people. As
protests and struggles against apartheid had increased, the government realised that they could no



longer keep the blacks under their rule through repression. The white regime changed its
policies. Discriminatory laws were repealed. Ban on political parties and restrictions on the
media were lifted. After 28 years of imprisonment, Nelson Mandela walked out of the jail as a
free man. Finally, at the midnight of 26 April 1994, the new national flag of the Republic of
South Africa was unfurled marking the newly born democracy in the world. The apartheid
government came to an end, paving way for the formation of a multi-racial government.

Q.39 The Himalayan mountain system exhibits a youthful topography. It is characterized by
towering peaks, deep valleys, and swiftly flowing rivers. The Himalayan region was formed by
the collision of The Eurasian plate and the Indo-Australian plates due to continental drift. Most
of the rocks found in the Himalayan region are sedimentary. The Himalayan region is Arc-
shaped. Mount Everest is the highest peak in the Himalayan region. In the Himalayan region, the
average height of the Mountain peaks is around 6000 m. Himalayan rivers which originate in the
Himalayan region, are longer than the peninsula rivers.

The peninsular plateau consists of igneous and metamorphic rocks. These give rise to gently
rising hills and expansive valleys. The peninsular plateau was formed by the breaking and
drifting of the Gondwana land. The peninsular plateau is triangular-shaped. Most of the rocks
found in the Peninsular plateau are igneous rocks. Anamudi is the highest mountain peak on the
peninsular plateau. The average height of a mountain peak in the peninsular plateau is around
900 m. Peninsular rivers which originate in the peninsular plateaus are shorter than the
Himalayan rivers.
OR
The northern plain is divided into four regions: Bhangar, Bhabar, Khadar, and Terai.

These plain rivers form marshy islands.

The soil formed in the northern plains is very fertile, and people depend on crop growing
and farming activities here for their source of income.

The northern plains are formed by the alluvial deposits of the three major river systems of
the Indus, the Ganga and the Brahmaputra along with their tributaries.

This plain is completely formed of alluvial soil.
The plains are very fertile and are best suited for agriculture.

These plains are densely populated because of their fertile lands and economic activities based
on agriculture.

Q40 Map
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